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71. Which Dird is hatching eggs ?

1. Jay 2. Stock dove 3. Magpie
72. The ‘spring morning’ is a/an

1. sonnet 2. Terza Rhyme 3. Royal Rhyme 4. Ode
73. Which place did the child (Edward) like?

4. All

1. Kilve 2. Liswyn 3. Sea shore 4. Weather clock
74, What does an adult learn from a child?
1. Childish 2. Kindness 3. Silence 4. Innocence

75. A speech in which a character reveals his innermost thoughts is

1. Monologue 2. Aside 3. Soliloguy 4. All
76. Who said, “He loves us not he wants the natural touch”?

1. Lady Macbeth 2. Banguo

3. Macduff 4. Fleance
77. Who said, “So Fair and Foul a day | have not seen™?

1. Lady Macbeth 2. Macheth

3. Duncan 4. Macduff
78. The first person announced the murder of Duncan is

1. Macbeth 2. Porter 3. Guard 4. Macduff
79. The Successor of Duncan after his death is

1. Macduff 2. Macheth 3. Malcolm 4. Banquo’s son
80. The protogonist of ‘The Gold Frame’ is

1. Gold Frame 2. Laxman 3. Datta 4. Customer
81. To whom deos ‘she’ refers to in the spring morning?

1. The rain 2. The sky 3. The rabbit 4. The nature
82. The Rhyme scheme of The spring morning is

l.abababc 2 ababbcc 3. ababhch
83. R.K. Laxman was a poet and a/an

4, none

1. Eassayist 2. Novelist 3. Journalist 4. Cartoonist
84. What kind of Frame does Datta Suggests to be looked more
elegant?
1. Gold mount 2. An Oval mount
3. Cut Mount 4. Square mount

85. Who is the god to the customer in the “The Gold Frame’ ?
1. Datta 2. The old man in the picture
3. RK. Laxman 4. Monalisa
86. In the story “The Gold Frame’ the customer
1. Had failed to notice the picture itself
2. Had received the frame in 10 days
3. Had asked for a square mount frame 4. all
87. Dutta recommended one sample for the customer because
1. The customer could not decide
2. The customer was uncertain
3. The customer was deeply thinking 4. None
88. Which syllable is stressed in the following word ‘photograph’?
1. 4th syllable 2. 3rd syllable 3. 2nd syllable 4. Ist syllable
89. William wordsworth worked as the poet laureate of England
from
1. 1842-1850 2. 1843-1850 3. 1843-1851
90. “My thoughts on former pleasures ran
I thought of kilve’s delightful shore”
From the above lines The word “I” refers to
1. Edward 2. Wordsworth 3. Shelly. 4. Robert Frost
91. “Anecdote for Father’ is a/an
1. sonnet 2. ode

4. 1813-1843

3. lyric 4. ballad




(02, What does wordsworth focus on in “Anecdote for Fathers’?
1. Father - Son relation 2. Lives of Common people
3. Nature - God 4. Village (Country) - City
93. In Anecdote for fathers, The pronouns “I, me and my” do not
refer to
1. The poet 2. The narrator 3. Edward 4. Wordsworth
94. The musical device in “His face is fair and fresh to see” is
1. assonance 2. alliteration 3. consonance 4. pun
95. William wordsworth was a/an
1. Romantic poet 2. Nature’s poet
3. England poet laureate 4. All
96. Why does Lady Macbeth not wish to kill Duncan?
1. He resembles her father 2. She is coward
3. She never did such deeds 4. None
97. Which one is not occured according to the prophecy of three
witches?
1. Macbeth became the king 2. Fleance became the king
3. Macheth became thane of Glyamis 4. all
98. The porter scene occurs in the following act of macbeth
11 2.1 3. I 4.1V
99-111 Choose the active / passive voice
99. You will be given a ticket by the manager
1. The manager will give you a ticket
2. A ticket will be given to you by the manager
3. You give a ticket to the manager
100. She teaches us grammar.
1. Grammar is taught to us by her
2. We are taught grammar by her
3. We are taught to grammar by her
4. Both1 & 2
101. Who taught you social ?
1. By whom was social taught to you?
2. Who were you taught social by?
3. By whom were you taught social?
102. The teacher was pleased with my work.
1. My work was pleased by the teacher
2. My work pleased the teacher
3. My work pleased with the teacher
4, Both1 &3
103. The guard refused him admittance
1. He was refused admittance by the guard
2. Admittance was refused him by the guard
3.Both 1&2 4. None
104. The people lined the road
1. The road was lined to the people
2. The road was lined for the people
3. The road was lined with people
105. The people thronged the streets
1. The streets were thronged with the people
2. The streets were througed by the people
3. The strfeets were througed by the people
4. The streets were throunged in the people
106. lam about to marry her
1. She is about to married to her
2. She is married to her
3. She is about to be marrie to her
4. She is to be married to her
107. Macbeth hoped to succeed Duncan
1. Duncan was to be succeeded by Macheth
2. It was hoped by macbeth is succeed Duncan
3. Macbeth hoped to Duncan be succeeded
4. Both2 & 3
108. I shall be obliged to go
1. Circumstances will oblige me to go
2. Something shall oblige me to go
3. They will oblige me to go
41&3
109. I know her.
1. He was known to me
3. She is known by me
110. 1t is time to shut up the shop
1. 1t is time let the shop be shut up
2. It is time for the shop to be shut up
3. It is time to the shop be shut up
111. His behaviour vexes me sometimes
1. lam sometimes vexed at his behaviour
2. lam vexed sometime with his behaviour
3. lam vexed for sometime his behaviour
4. Sometimes lam vexed due to his behaviour

4. All

4. All

4. All

4. All

2. She was known by her
4. She is known to me

4. All

Read the Passage Carefully.

The Dinosaurs were cold - blooded creatures. They could not
heat theis own bodies. They needed the heat from the sun to stay
alive and move about. When the weather got colder, their bodies
become slover and slower and they could not even move to
collect their food. But crocodiles are also cold-blooded animals!
The crocodile is a water animal as well. When the weather was
cold, the crocodile slipped deep into the water and kept warm.
But most Dinosaurs were land animals. They could not stay
under water, and when the land was covered in deep snow, the
Dianosaurs were in great trouble. They could not adapt to the
changing conditions and could not survive.

112-116 Answer the following questions.

112. The gratest problem that the cold - blooded animal face that

1. They cannot warm up their body on their own

2. They cannot live without the help of water or sun

3. They cannot survive in the snow 4. None
113, All' animals need ......... for survival
1. sunlight 2. warm wates 3. food 4. none

114, The Dinosaurs have disappeared where as the crocodiles
have survived because
1. They could live on land as well as in water
2. They were smaller than Dinosaurs

3. They could deaft the dinosaurs 4. None
115. The word *adapt’ means

1. adopt 2. adept 3. accept 4. adjust
116. Antonym of ‘alive’

L. loiter 2. lounge 3. motionless 4. lull

Read the following passage
Socarates had many diciples and the greatest of them was
plato. Plato wrote many books that we know a great deal about
his master. Government do not like people who are always trying
to find out things. The athenian Governmant do not like the
methodes of socarates. They held a trail and condemned him to
death. Thet told him that if he promised to give up his discussion
with people and changed his ways, they would let him off. But he
refused to do so and preferred the cup of poison which brought
him death to giving up what he considered his duty.
117-121 Choose Answers.
117. Who was Plato ?
1. a close relative of socrates 2. a disciple of socrates
3. an athenian government official 4. all
118. We know a lot about socrates from
1. people who lived during his time
2. government records 3. the book of plato 4. all
119. The government condemned socrates to death because
1. They did not like the methods of socrates
2. He did not hold his discussions with them
3. He was trying to turn people against them
120. How did socrates die ?
1. He drank a cup of poison 2. He was hanged
3. He was shot dead 4. He died of cholera
121. *Disciples’ means
1. Leaders 2. Monk 3. Nun
122-126 Read the following poem
She dwelt among the untrodden ways
Beside the springs of dove;
A maid whom there were none to praise
And very few to love.
A violet by a massy stone Half-hidden from the eye!
Fair as a star, when only one is shining in the sky.
She lived unknown, and few could know when lucy ceased to be;
But she in her grave, and, oh, The differance to me - wordsworth
122 Give suitable title to the above poem
1. The lost love 2. The springs of dove
3. She dwelt among the untrodden ways 4. 1 & 3
123. What kind of figures of speech can we find in Il nd stanza ?
1. simile 2. pun 3. metaphor 4. none
124. Which lines in the poem show intense feeling?
1. The first two lines 2. The last two lines
3. All lines 4. Middle lines
125. What feeling has the poet expressed in the last two lines of
[lrd stanza?
1. love 2. bereavement 3. sad 41&2
126. What do you think of the language used in the poem?
1. simple 2. everyday words
3. most of one syllable words 4. All
127. Paragraphs and well-knit sentences are the elements of
1. process of writing 2. subskills of writing
3. good writing 4. none

4, None

4, Students / followrs

“




W
128. While developing hand-writing skills in learners, the teacher
should not concentrate on
1. using of four-lined note books
3. giving adequate practice
4. organizing hand writing competitions
129. To remedy spelling errors made by pupils or to prevent them
from making spelling errors, the teacher should
1. Have list of word hung on the classroom walls
2. Help them read books other than their books
3. Get pupils to learn by heart every word
130. Cohesion shows the relationship between
1. two ideas 2. two clauses
3. two sentences of a paragraph
4. two pragraphs of a essay / story
131. Teachers of English must help pupils to write English in three
stages what are the three stages?
1. For language work - for learning to write - for conversation
2. For a mechanical activity - for language exercise - for com-
munication
3. for writting letters - for writing stories - for transformation
4. none
132. Conjuctions that are used are examples of good writing skills
1. style 2. Clarity 3. cohesion 4. all
133. The following writing skill differs from person to person is
1. style 2. logic 3. clarity 4. intellighle
134. Which method is called as see and say method ?
1. word method 2. sentence method
3. phrase method 4, story method
135. Which method is called the spelling - method ?
1. The phonic method 2. The alphabetic method
3. The syllabic method 4. The word method
136. Vijay wants to read the score card to know how many runs
have been made by kohili. Here the sub skill of writing is
1. skimming 2. skipping
3. scanning 4. critical reading
137. Who opinions “Reading is a process of sight-sound - sence” ?
1. Dotson 2. Michael west 3. Hymes 4. Chomsky
138. How many times is the word repeated ?
The above question comes under the subskill of writing is
1. scanning 2. skimming 3. skipping 4. none
139. ......... reading is a study whihc involves several other skills
hesides reading
1. Extensive reading 2. Critical reading
3. scanning 4. Intensive reading
140. All the important study skills require
1. quick reading 2. efficient reading
3. imaginative reading 4. all
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